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|.  The 1000kg block is held in equilibrium by means of the
pulley and continuous cable system shown in Figure 1. If
the cable is attached to the pin at B, compute the forces that
this pin exerted on each of its connecting members. (25%)

2. The collar at B in Figure 2 slides along the circular bar,
causing the pin B to move at constant speed v, in a circular
path of radius R.  Bar BC slides in the collar at A. At the
instant shown, determine the angular velocity and, angular
acceleration of bar BC.  (25%)

Figure 2

3. Acast iron machine part in Figure 3 is loaded by the 3 kN.m
couple shown. (Neglect the effect of fillets)

(1)(15%) Determine the maximum tensile and compressive
stress in the machine part (E=175 Gpa). ‘ | :%
(2)(10%) Determine the radius of curvature of the machine

/
part 30 g
- M 3kNm
Figure 3
4. Find the equation of the elastic curve for the uniformly
. . . Yay =
loaded, two-span continuous beam shown in Figure 4. T
(25%)  (The EI is constant.) l l l l Il I l
(¢: uniform load, v: deflection) 4 x
L

Figure 4




